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  Test-Independent Samples T 

 

 

Test Variable(s)
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groupGrouping Variable 

 Define Groups
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 OK
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 AnalyzeCompare Means

 Test-Samples T-Paired 
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One Way ANOVA 
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 Within Sum of Squares 
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  
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SPSS 

One Way Analysis of Variance

 One Way Analysis of Variance 

SPSS 

 Data Editor
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  Way ANOVA-One  
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 Post Hoc
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Nonparametric MethodsSome Examples of  

Whitney U  –Mann   
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H0 : μ1 =  μ2

HA : μ1 ≠  μ2

Or  HA : μ1 <  μ2
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Whitney U –Mann SPSS
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SamplesTest Variable Listcodes

Grouping VariableDefine Groups 

 [Group 1 ]2[Group 2 ]

3 

 Continue

 Ok

P.Value0.648%5
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Test WilcoxonSPSS
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Analyze Nonparametric testsRelated Samples2
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Wallis Test-Kruskal 
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Analyze Nonparametric testsindependent  Samplesk
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P.Value0.095 5%

2 Test Hypothesis Using Chi-Square Distribution

2
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2t

tµ=02
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Testing of Independence 

Chi-Square test of independency)

 K
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Null hypothesis)  0H
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Alternative hypothesis AH
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2is dependent on V 1: VAH

Chi SqureTest of  Independence SPSS

  

        

        

        

        

  

 

        

        

        

        

   

 

α0.05

 

(Result)(Gender)

)Result(0123=4)Gender(12



37 

 

AnalyzeDescriptive Statistics
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Statistics 
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Cell 
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Ok 
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7237129.765

6.6898.7456.176 

5.653579.2486.328

8.2675.83 55.35 

 

2.4374 

0.656sided) =-(2Asymp. Sig. 

α0.05
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Smirnov -KolmogorovGoodness of Fit Test 

 

 

H0 : Fn(X) = F0(X)

HA : Fn(X) ≠ F0(X)

Fn(X) < F0(X)

Fn(X) > F0(X)

 

Smirnov -KolmogorovGoodness of Fit Test SPSS

  Dinner 

AnalyzeParametric Test-Non

S -Sample K-1 
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Normal

PoissonUniformExponentialOk

15.266.782

0.573 

  

 0.898tailed) =-Asymp. Sig. (2 

α0.05

15.266.7826.782  ,  15.26X : N

 تم بحمد الله ،،
 إن أصبت فتوفيق مه الله وإن حصل هناك خطأ فمه وفسي والشيطان

وإياكم ، ودعواتكم الطيبةوفقنا الله   

 أخوكم / شيءٌ آخر ) أبو فيصل (


